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Mowing the Lawn Task
John makes $20 for each lawn (m) he mows. He is saving money to buy a scooter that costs $180.

a. John wants to determine how many lawns he needs to mow to reach his goal. He writes two different
expressions to help.

Expression A: 180m — 20 Expression B: 180 —20m

Which expression should John use? Explain your reasoning.

&

b. John’s mother tells him that 20(9m — 1) is equivalent to Expression A above. Determine if John’s mother
is correct and support your answer.

s
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C. John decides that he only wants to cut 25 lawns all summer. He needs to make more than $360 to pay
for the new scooter, new sneakers, and school supplies. He uses the inequality 360< 25c¢ and gets an

answer of 14.4 < c after solving it. Explain how John arrived at that answer and explain what that answer
means in the context of the problem.

I
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Scoring Guide
The CCSS for Mathematical Content (3 points)

6.EE.B.6 Identifies 180 — 20m (Expression B) as the correct expression in part a.
(1 Paint)

6.EE.A.4 Determines that the expression provided in part b is equivalent to Expression A.
(1 Paint)

6.EE.B.5 Identifies that if 14.4 is multiplied by 25, the product is 360, or that 360 divided by
25 is 14.4. States that John needs to charge more than $14.40 in order to make
more than the desired $360.
(1 Point)

The CCSS for Mathematical Practice (2 points)

MP3 Justifies the choice of expression in part a using appropriate mathematical language.
(1 Point)
(MP3: Construct viable arguments and critique the reasoning of others.)

MP7 Supports the answer for part b by using the distributive property or substituting the
same value in both equations and evaluating them.
(1 Point)
(MP7: Look for and make use of structure.)

TOTAL POINTS: 5

© 2014 University of Pittsburgh
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The CCSS for Mathematical Content Addressed In This Task

Apply and extend previous understandings of arithmetic to algebraic expressions.

6.EE.A4

Identify when two expressions are equivalent (i.e., when the two expressions name the
same number regardless of which value is substituted into them). For example, the
expressions y + y +y and 3y are equivalent because they name the same number
regardless of which number y stands for.

Reason about and solve one-variable equations and inequalities.

6.EE.B.5 Understand solving an equation or inequality as a process of answering a question:
which values from a specified set, if any, make the equation or inequality true? Use
substitution to determine whether a given number in a specified set makes an equation
or inequality true.

6.EE.B.6 Use variables to represent numbers and write expressions when solving a real-world or

mathematical problem; understand that a variable can represent an unknown number,
or, depending on the purpose at hand, any number in a specified set.

The CCSS for Mathematical Practice*

3. Construct viable arguments and critique the reasoning of others.

7. Look for and make use of structure.

* Gray type indicates Mathematical Practices not addressed in this assessment.

© 2014 University of Pittsburgh

Page 4 of 34




. Se_cui‘é Material:_Do Not Copy! A 1 a

Mowing the Lawn Task
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‘Mowing the Lawn Task
c. . John decides that he only wants te cut 25 lawns all summer. He needs to maké at least
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Anchor 1 Litho 00126200165
Total Content Points: 3 (6.EE.B.6, 6.EE.A.4, 6.EE.B.5)
Total Practice Points: 2 (MP3, MP7)

The student identifies Expression B as the correct expression in Part A (6.NS.C.6c), and justifies
the choice by contrasting the coefficients in the two given expressions as they relate to the
variable m (“ you aren’t getting $180 for every lawn . . . you would multiply the number of lawns
times $20”) (MP3). The student determines that the expression provided in Part B is equivalent
to Expression A (“She is correct”) (6.EE.A.4), and supports the answer by substituting the same
value (9) in both equations and evaluating them to find the same answer (1,600) (MP7). In

Part C, the student identifies that 360 divided by 25 is 14.4, and states that John needs to make
more than $14.40 for each lawn he mows to earn $360 (6.EE.B.5).

Total Awarded Points: 5 out of 5
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Mowing the Lawn Task _
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. Mowing the Lawn Task

c. =

. answer and explain what that answer means in the contextof the problem.
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Anchor 2 Litho 00436200165
Total Content Points: 2 (6.EE.B.6, 6.EE.A.4)
Total Practice Points: 2 (MP3, MP7)

The student identifies Expression B as the correct expression in Part A (6.NS.C.6c), and justifies
the choice by associating the variable m to the twenty dollars and also explaining the meaning of
the $180 (“each time he mows a lawn, he adds 20 dollars to his total amount. When he gets 180
dollars, he is ready to buy his scooter”) (MP3). The student determines that the expression
provided in Part B is equivalent to Expression A (6.EE.A.4), and supports the answer by
substituting the same value (6) in both equations and evaluating them to find the same answer
(1060) (MP7). In Part C, although the student identifies that 360 divided by 25 is 14.4, there is
no statement that John needs to charge more than $14.40 in order to make over $360 (no credit
for 6.EE.B.5).

Total Awarded Points: 4 out of 5
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- Mowing the Lawn Task
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Mowing the Lawn Task
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Anchor 3 Litho 00076200165
Total Content Points: 2 (6.EE.B.6, 6.EE.A.4)
Total Practice Points: 2 (MP3, MP7)

The student identifies Expression B as the correct expression in Part A (6.NS.C.6c), and justifies
the choice by indicating that the value of its solution is the amount of money still needed (“tells
him how much more money he needs”) and providing an illustrative example (“if he moved two
lawns EX: 180 — 20(2) = 140%$”) (MP3). The student determines that the expression provided in
Part B is equivalent to Expression A (“She is correct”) (6.EE.A.4), and supports the answer by
substituting the same value (2) in both equations and evaluating them to find the same answer
(340) (MP7). In Part C, the student neither identifies how 14.4 was determined as the solution to
the equation nor explains the meaning of the 14.4 in the context of the problem (no credit

for 6.EE.B.5).

Total Awarded Points: 4 out of 5
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Mowing the Lawri Task

_C. John decides that he only wants to cut25 Iawns all summer. He needs to make at feast
$360 to pay for the new scooter, new sneakers, and school supplies. He uses the inequality
360 < 25¢ and gets an answer of 14.4 after solving it. Explain how John arrived at that
answer and explain what that answer means in the context of the problem.
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Anchor 4 Litho 00706200165
Total Content Points: 2 (6.EE.B.6, 6.EE.A.4)
Total Practice Points: 1 (MP3)

The student identifies Expression B as the correct expression in Part A (6.NS.C.6c), and justifies
the choice by correctly associating the amount earned per lawn with the number of lawns mowed
(“multiply the amount of money for each lawn ($20) by the amount of lawns mowed, (m)”)
(MP3). The student determines that the expression provided in Part B is equivalent to
Expression A (6.EE.A.4), but does not sufficiently support the answer by failing to illustrate the
process of substituting the same value in both equations and evaluating them

(no credit for MP7). In Part C, although the student identifies that 360 divided by 25 is 14.4,
there is no statement that John needs to charge more than $14.40 in order to make over $360

(no credit for 6.EE.B.5).

Total Awarded Points: 3 out of 5
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Secure Material: Do Not Copy! A 5 b

e, John decides that he only wants to cut 25 lawns all summer. He needs to make af least
$360 to pay for the new scooter, new sneakers, and school supplies. He uses the inequality
360 < 25¢ and gets an answer of 14.4 after solving it. Explain how John arrived at that
answer and explain what that answer means in the context of the problem.
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Anchor 5 Litho 00626200165
Total Content Points: 2 (6.EE.B.6, 6.EE.A.4)
Total Practice Points: 1 (MP7)

The student identifies Expression B as the correct expression in Part A (6.NS.C.6c), but does not
sufficiently justify the choice by including specific details explaining why (no credit for MP3).
The student determines that the expression provided in Part B is equivalent to Expression A
(6.EE.A.4), and supports the answer by substituting the same value (2) in both equations and
evaluating them to find the same answer (340) (MP7). In Part C, the student identifies that 360
divided by 25 is 14.4, but does not clearly state that John needs to charge more than $14.40 in
order to make more than $360 (“14.4 is how much money he’s going to charge”) (no credit

for 6.EE.B.5).

Total Awarded Points: 3 out of 5
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- Mowing the Lawn Task.

c. John decides that he only wants fo cut 25 lawns all sun%mer._He needs to make at least

- $360 to pay for the new scooter, new sneakers, and school supplies. He uses the inequality

360 < 25¢ and gets an answer of 14.4 after solving it. Explain how John arrived at that
answer and explain what that answer means in the context of the problem. . .

™ WS eqanon uus g
e Sroadive MANTRNE -

hor Orfec fo 300. .

Litho#: 00526200165 -



wade
Rectangle

wade
Rectangle

wade
Rectangle

phils
Rectangle

phils
Rectangle


Anchor 6 Litho 00526200165
Total Content Points: 2 (6.EE.B.6, 6.EE.A.4)
Total Practice Points: 0

The student identifies Expression B as the correct expression in Part A (6.NS.C.6c), and attempts
to justify the choice with what appears to be an erroneous argument (“you wouldn’t multiply $20
you would multiply $180”") without including specific details explaining why (no credit

for MP3). The student determines that the expression provided in Part B is equivalent to
Expression A (6.EE.A.4), but does not sufficiently support the answer (“she is using distributive
property”) by failing to illustrate the process with an example (no credit for MP7). In Part C, the
student neither identifies how 14.4 was determined as the solution to the equation nor explains
the meaning of the 14.4 in the context of the problem (no credit for 6.EE.B.5).

Total Awarded Points: 2 out of 5
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' Mowing the Lawn Task

©.- John decides that he only wants to cut 25 lawns all summer. He needs to make at feast
$360 to pay for the new scooter, new sneakers, and school supplies. He uses the inequality
360 < 25¢ and gets an answer of 14.4 after solving it. Explain how John arrived at that
answer and explain what that answer means in the context of the problem. '
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Anchor 7 Litho 00606200165
Total Content Points: 1 (6.EE.A.4)
Total Practice Points: 1 (MP7)

The student incorrectly identifies Expression A in Part A (no credit for 6.NS.C.6¢), and does not
justify that choice (no credit for MP3). The student determines that the expression provided in
Part B is equivalent to Expression A (6.EE.A.4), and supports that answer by using the
distributive property to expand 20 (9m — 1) to 180m — 20 and showing that it is equivalent to
Expression A (MP7). In Part C, although the student identifies that 360 divided by 25 is 14.4, the
meaning of the 14.4 in the context of the problem is misunderstood (“This means that John
should cut at least 14 lawns™) (no credit for 6.EE.B.5).

Total Awarded Points: 2 out of 5
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Secure Material: Do Not Copy!' | A 8 b
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A Mowing the Lawn Task
c. John decides that t_1e' only wants to cut 25 lawns all sﬁmmer. He needs to make at feast
$360 to pay for the new scooter, new sneakers, and school supplies. He uses the inequality

360 < 25¢ and gets an answer of 14.4 after solving it. Explain how John arrived atthat
answer and explain what that answer means in the context of the problem.
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Anchor 8 Litho 00146200165
Total Content Points: 1 (6.EE.B.6)
Total Practice Points: 0

The student identifies Expression B as the correct expression in Part A (6.NS.C.6c), but does not
sufficiently justify the choice due to unclear wording (“he is multiplying the cost of the scooter
with how many lawns he mowed which would already be to many lawns”) (no credit for MP3).
The student does not determine that the expression provided in Part B is equivalent to
Expression A (“no she isn’t correct”) (no credit for 6.EE.A.4), and does not support the answer
either by using the distributive property or by substituting the same value in both equations and
evaluating them (no credit for MP7). In Part C, the student neither identifies how 14.4 was
determined as the solution to the equation nor explains the meaning of the 14.4 in the context of
the problem (no credit for 6.EE.B.5).

Total Awarded Points: 1 out of 5
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Mowing the LawnTask

. 'John makes $20 for each Iawn (m) he- mOWS He is savmg money to buy a scooter that costs $180

a. John wants to deterrmne how many Iawns he needs to mow to reach hIS goal He wntes two |
v d|fferent expressions to help. .- N

Expression A: 180m 20 . ExpressmnB 180~ 20m-

Whlch express:on should John use? Explam your reasonlng
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r loest ex;cl;uns how

Ma”‘z! lawn Y\eﬁds
-l:O MDUU S he

b. John's mother tells him that 20(9m — 1) is equivalent to Expressnon A above Determme |f
P John's mother is correct-and support your answer.
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Mowing the Lawn Task ' B

c. John decides that he only wants to cut 25 lawns alf summer. He needs to make atleast
' $360 to pay for the new scooter, new sneakers, and school supplies. He uses the mequahty
+-360 < 25¢ and gets an answer of 14.4 after solving it. Explain how John' arrived at that
answer and explam What that answer means. in the context of the problem

& BCQO/- ZSC “’l L} VL

ok - divided 28 m%ro'

260, The  ansuwoer
weang that  he d\\l\ded
25 lawms mi:o ﬁ%too "
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Total Content Points: 1 (6.EE.B.6)
Total Practice Points: 0

The student identifies Expression B as the correct expression in Part A (6.NS.C.6c), but does not
sufficiently justify the choice by including specific details explaining why (no credit for MP3).
The student does not determine that the expression provided in Part B is equivalent to
Expression A (“John’s mother is incorrect”) (no credit for 6.EE.A.4), and does not evaluate the
equations by using the distributive property or by substituting the same value into both equations
(no credit for MP7). In Part C, although the student identifies that 360 divided by 25 is 14.4,
there is no statement indicating the meaning of the 14.4 in the context of the problem (no credit
for 6.EE.B.5).

Total Awarded Points: 1 out of 5
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Mowing the Lawn Task

... John makes $20 for each .lawn_(m) he mows. H'e is'savinig 'morie'y?td buy 'eﬁéoddteffiﬁ%ifi'COsts $180.

a. - John wants to determine how many Iawns he needs to mow to reach hls goal ‘He writes two
d;fferent express:ons to help SUEL e e

ExpressmnA 180m - 20 Express:onB 180 20m

Wh[ch expression should John use? Expla'h your reasomng ‘ o :
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\pu \,wa\ 4 mu\’c\' \%o m—-“LO

=
»

b John s mother tells hlm that 20(9m 1) is equwaient to Expressmn A above. Determme |f
' John's mother is correct and support your answer.
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‘Mowing the Lawn Task

c. John decides that he only wants fo cut 25 iawns all summer. He needs to make af !east
$360 to pay for the new scooter, new sneakers, and school supplies. He uses the inequality
360 < 25¢ and gets an answer of 14.4 after solving it. Explain how John arrived at that
answer and explaln what that answer means |n the context of the prob!em

& o d\\;\dm 260 ; 15
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Total Content Points: 0
Total Practice Points: 0

The student incorrectly identifies Expression A in Part A (no credit for 6.NS.C.6c), and does not
justify the choice (no credit for MP3). The student does not determine that the expression
provided in Part B is equivalent to Expression A (no credit for 6.EE.A.4), and does not evaluate
the equations by using the distributive property or by substituting the same value into both
equations (no credit for MP7). In Part C, the student identifies that 360 divided by 25 is 14.4, but
does not state that John needs to charge more than $14.40 in order to make more than $360
(“14.4 stands for how much money he will get for each lawn”) (no credit for 6.EE.B.5).

Total Awarded Points: 0 out of 5
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